DOORS

Classic-Craft. s

N *
. . H
. H
® S
; s
. S
F IS Ay &g
I3 7 IS S ¥ Fay 3
J 7 I W : PN
f ¢ 4 & : : 4y
P H
2N i
: '
L N M be Y
K :
y R L "
I : : H
L < il 2 ie
M : :
H s
:
- . 3
2

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

—o
o)
PR 3&:5\\ \L:t\'

813.659.9197

] e §
o

..

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

OPAQUE FIBERGLASS SINGLE DOOR

=— 71.75" MAX. O.A. FRAME WIDTH —|
w/ SIDELITE(S) N 155 50
- FRAME B2
INSWING WIDTH WIDTH & & <
"NON-IMPACT" / : 28 | z8
il / 18 |58
1 [T 52 |33
i 1 I
—_— = . o= |5 85
—_— & ol S22
w IE
3% 5
2 | © ©
EVALUATED FOR USE IN THE STATE OF TEXAS == e
The Fiberglass Door system described herein complies with the 2018 International o | X c]
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code =1 =
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions: 9
O
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to 7
base material shall be beyond wall dressing or stucco. é'
2. When used in areas requiring wind-borme debiris protection this product is required to be
protected with an impact resistant covering that complies with Section R301.2.1.2 of the )
IRC and Section 1609.1.2 of the IBC. o
3. Allowable design pressure requirements must be equal to or less than the design pressure '
rating shown in the design pressure chart, sheet 1 of this drawing. E
4. Conditions not covered by this drawing are subject to further engineering analysis. o
o
TABLE OF CONTENTS 2X DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) - =
SHEET # | DESCRIPTION SHEET # CONFIGURATION | REINFORCEMENT w/ FJ PINE JAMBS w/ COMPOSITE JAMBS DATE: 1/06/21
! Typical Elevations, Design Pressures & General Notes 6 Vertical Cross Sections REQUIRED POSITIVE | NEGATIVE | POSITIVE | NEGATIVE scas  N.T.S.
2 Door Panel Details 7 Frame Anchoring DWG. BY: RW
3| Sidelite Panel Details 8 |Hardware Details 4O, OX. OXO NO +40.0 -45.0 +30.0 -40.0 cHk. B:  LFS
4 Elevations 9 Bill of Materials & Componenis P WA, DRAWI 0
5 Horizontal Cross Sections YES +50.0 -55.0 +50.0 -55.0 ltlf(;<205 156

sueer 1 oF _9

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157\C - Drawings\TX-5156-57.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



T t - :':;\fa?..wl}"{}'}z :.é g
" o . IE D e e W o
0.4" —» '—-‘—— —.—[ = (.4 0.31 !*‘_ ‘Fi -;.. gg g ..*‘ < §§. S § % ?i
N . : % L
S e S RS S M i hrinid TEoz0. Bl
R = S~ ~ N/ GERE cy GRS w
R N -~ ] S Q 2y iz Fhd 3 § 2 3 g g%
TR - ; > , N ™ N i8] 5 538 @&
¢ Q SO o U _1 ~J Q e . b R -l I~ ?‘ ’& '''''' 5 =z ,.n(} a S '.? g-l) é
15 M S L - e ! Ay vs ? *‘?{:>_v??\ Zowo OE
/ \ / N anS SR. g0
OAK CAP HINGE STILE LOCK STILE OAK CAP v 238%
(WOOD)  (ENG. WOOD) (ENG. WOOD) (WOOD) (WOOD)  (ENG. WOOD) (ENG. WOOD) (WOOD) E 2 S ;z
o oo A o
& mad Lg
oo
1"\ HORIZONTAL CROSS SECTION @”OR’ZONTAL CROSS SECTION : gt
\2/ E K B8
[+]
(=]
36.0" MAX. 35.813" MAX. 35.813" MAX. 9
~— DOOR —= ~—  DOOR —=] ~—  DOOR —= .5 E
PANEL WIDTH PANEL WIDTH PANEL WIDTH EQ A
1 -
(4 8 |3 &
2 | +HEE
Q- VBl o
o —TOPRAL—_ _{ ) "5 23
] oy 8 o
© © 8 e
, | I S
1 20\ 20\ T———FoAm coRE—[ | -
= N = N = A\ ’ faa)
P ¥ ¥
z z pa
o] w3 Q 0 o} 0 %
O Q o Z
3 |+ 2 Lt 8 |t y 5
= O = o8 = Ok 'y ,. l
5 X bk X Pos X ?  — | i
o P 3 : FIBERGLASS— ||
O~ O~ o .
SKIN
‘ ! =
= . - (]
S 1 S .
> > > ° [ —somomrar—"1L S 2
COMP. ,
.,____DOOR PANEL DOOR PANEL . DOOR PANEL f — ( ) f bate:_1,/06/21
BOOK Hybrid Door U1 Door B SCAE: N, TI:\’?A}
DWG. BY:
CHK. BY: LFS
11} : i1
Classic Craft” SERIES DOOR PANEL /3 \ VERTICAL CROSS SECTION /"4 VERTICAL CROSS SECTION |7 -
FIBERGLASS DOOR SKIN: 0.125" MIN. THK. N, 2 TX—-5156
FOAM CORE: POLYURETHANE FOAM (1.9 PCF MIN.) P a—

Z:A\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7 & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5156-57.dwg

© zo21 R.W. BuiLbing ConsuLTAaNTSs ING.



Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD!I - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5156-57.dwg

Ll

G1/G2

v/
H

/1 "\ HORIZONTAL CROSS SECTION

NEY

98" MAX. FRAME HEIGHT
94.25" MAX. D.L.O. HEIGHT

,/
Vi

‘ SIDELITE PANEL

15.5" MAX.
FRAME WIDTH
13" MAX.
D.LO WIDTH

EXTERIOR p

[/

PVC INSERT

BACKBEDDING
COMPOUND

18 GA. X 1" BRAD NAIL

(LOCATED 1-1/2" FROM ENDS

& 4" O.C. THEREAFTER)

BACKBEDDING
COMPOUND

— 1/2" GLASS BITE

—1" O.A. THK. GLASS

3/16" TEMPERED
L T Glass

/i

=

™ AIR SPACE

\3/1 6" TEMPERED

GLASS

STEEL SPACER

GLAZING STOP (7/16")

Gl GLAZING DETAIL

1" Insulated Glass

INTERIOR

7“2\ VERTICAL CROSS SECTION

NE

PVC INSERT

BACKBEDDING
COMPOUND

~=—1/2" GLASS BITE

AN S

— 3/4" O.A. THK. GLASS

3/16" TEMPERED
T GlAss

AIR SPACE

3/16" TEMPERED
GLASS

18 GA. X 1" BRAD NAIL &
(LOCATED 1-1/2" FROM ENDS S~ AR SPACE
& 4" O.C. THEREAFTER) T
3/16" TEMPERED
BACKBEDDING — GLASS
COMPOUND STEEL SPACER
GLAIZING STOP (7/16")
G2)CLAZING DETAL
3/4" Insulated Glass
| AR SPACE
3/16" TEMPERED 3/14" TEMPERED 3/16" TEMPERED
GLASS GLASS GLASS
llll 3
- 3/4" O.A. THK. GLASS — e S

1" O.A. THK. GLASS —

STEEL SPACER
GLAIZING STOP

(7/16) =

SIDELITE
ADAPTER

1/2" GLASS
BITE

4

)
f

BACKBEDDING
COMPOUND

G1 GLAZING DETAIL

1" Insulated Glass

STEEL SPACER

GLAIING STOP
(7116')

SIDELITE
ADAPTER

BIT

BACKBEDDING
COMPOUND

<> GLAZING DETAIL
3/4" Insulated Glass

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FlL. 33595 .

BUILDING CONSULTANTS, INC.
Phone No.: 813.859.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA-TRU

FIBERGLASS DOOR
SIDELITE PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

oatE: 1/06/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5156

SHEET _3 oF _9

© z021 R.w. BuiLoinGg CONSULTANTS ING.



CON SANVLTINSENOD 9NIgTNg "M L 202 @)

Zg8li~d4 # NOUVMISIORY 40 ILVOIALNID SNOISIAFH
SHIINIONZ IWNOISSIH0Yd 40 Q€vos SvX3L SNOLLYATTI A 31vQ4 TONj — =l 9_
N
L616°6G9°CL8 "ON @uoud : N 0
G6SEE "4 OOMIPA 0€Z Xog "O'd \Sv@ ‘ANISSY HO ldvd % _M = <0 s
"ONI ‘SINVLINSNOD ONIGTINg Nl I I - 4_
400a SSY1943414 1 1Elslg &
CTLYOLF “S'd SVXIL NL-VYNYIHL i M olulE &
Id IPRMYDS 4 Uopukl Ag pedlodeld sjusuinsoQ 11oNa0dd ZI8IElS m 5
Ve
—
)
[+ =]
<
. 8 4
. ac oc
u ...... ereroess Setreeretatsstenae K »....,M “uu ﬂ
7 49IMHOS 3 NONM 4 ==
BH¥ Ry Ee
¥ = Sy & < <
Wby e |23
...... eert® Fog Loy
Mg 50 3% 2255
COTORTOS b
< 5 =
G 2.2
w aAladn
< SE|S8S
W 2 Oo|xa
<
@ H
LLy W
& 8 | I
3 z | £
— S
mw

ELEVATION
OXO

SEE HARDWARE CHART

Classic Craft Door Panel Options
Panel options shown are for illustration and are representative only
(similar opaque panel configurations are allowed)

a
J
O=
4
NEW%

ELEVATION
XO

BMp'25-9515-X1\sBumeIq - D\(ZSLS-25 1S X1) SeMPPIS 39S 41 S| dwijuoN 94 anbedO DD ,8 79 L ‘8.9 - XXX ¥A - 1AL\sul J0 1daQ sexa) - E\ININYINYId NiL BUIBYL\SIUBID\Z



‘ON| SINVLAINSNOD SNIgTiNg "M'd L1202

ZSBLL—4 # NOLVHISIOEM 40 3LVOLdlLMA SNOISIATY
SHIINIONT TYNOISSIA0Hd 40 amﬂm%;mmx%.. mzmﬁw@mﬁmwmmo A8 J1vd [ON

LB16°6G9°¢L8 ON 8uoyd :
CBCEC at IO 05T Xo8 O \Sv@ ‘XIBNISSV 50 1uvd
*ONI ‘SLNVLINSNOD ONIaTing ¥00a SSY19M3814

CZLvOL# '3'd SVXAL NYL—YWHIHL
A'd IPIUYDS 4 uopukl :Ag peipdeuy sjuswinso( 19Na0Yd

Rw
LFS

N.T.S.

TX-5156
SHEET _ 5 oF _9

pATE: 1/06/21

CHK. BY:
DRAWING NO.:

SCALE:
DWG. BY:

.
oooooooooooooo Harevrisserntranetong,

wo ] . N f »\n.
mkoﬁxom 4 NOGNAT ¢

.................

--------

/1
7

P
o
P
p
o
o
)
I
4
9
3 e
¢

25

27

/"4 "\ HORIZONTAL CROSS SECTION
\5_/ Shown w/ Back-to-Back Jambs

N

OO0
\

-

: ] /— EXT. SHEATHING

2
EXTERIOR

/i

D!

A\

1
m HORIZONTAL CROSS SECTION

EXTERIOR
INTERIOR

=
S B el, =

/~3"\ HORIZONTAL CROSS SECTION

\y Shown w/ 2X Reinforcement

"C
TY

EXT. SHEATHING —\ :\X 0.15
DRYWALL X Cé

L.
OO0

/"1 "\ HORIZONTAL CROSS SECTION

A\
A\

D!

BMp'£5-9515-X1\sBUmMeIQ - D\M(LGLS-2SLS X1) SBHIBPIS 39S 1a SI dwuoN 94 enbedO DD .8 8 .£ '8.9 - XXX ¥d - 1aL\su} o 1da@ sexat - S\LNINVINYI ML BULBY\SIUSID\Z



TONG SINVLAINSNDOD SNIaTIng "M'd 1202 §

T T =

(3
w Inswing Sill

Z68L1—4 # NOUVAISIOFY 40 ILVOIALLNIO SNOISIAZY
SYIANIONI YNOISSIONd 40 Quvos Svxal mzo&%om%mw\momo Al A1vad TON|— =0 © 9~
Ny =D
LB16'6G9'CLE TON suoyd ; | 0
G6SEE T4 OOWIDA OCZ Xog ‘O'd \Svg« *AT8W3SSY HO 1Mvd W m ~ <5 &
*ONI SINVLINSNOD oNigung N g | 6_
¥00d SSY19y38ld = (B l&le &2
CZLYOLE “3'd SYXAL NAL~YWHIHL g w slelZ &
“I'd WPIUYDS "4 UOPUA]  :Ag pespdeld sjusuinooq :10Nao¥d HEIHEE &
7Z7E
L @ "o, é
P w e
Frvlinen SELIOL 5T G
% LAIWHOS 4 NOGNAT &
“K\N \«l DOK ooooooooooooo Now“ﬂ.,“‘mw
\MM‘&» s 5 - h«»\wﬂa C.lll_ (18]
0, T, A5 5 ]
oGt P 2 &
WLILTE0 AN Z Q O
AR S & o &
z O =
o - ZYa) 8
Q ™ O
% %
X S
o n 3
pa -
m M,;, C
W , msl
(B3]
L © 2
| & &
E A A z _ ®)
s E o
A %
52 2
[ ]
a <
\ O
o
O
B N-
O
&
% ® §
\ i oo
@ *
=
<
z
b
o
[a)
s
o]
o
o ¢ =
O O O
Z O =
o O
e () &
o vy
L 743
£ 2
TN L
w—t
<
O
&
>

/ EXT. SHEATHING
7

OO0

R ") T  — o)
O
oz —
o
. f @ &
E 3 = 3@ 2
= 0 - z
£ [Tn]
3] f— @ ﬁ
[ = :
&y
(7]
(7]
Q2
= O 5
= (6]
S - o
\ & f
& O
V wy
( 2
o x g
< D L b+ m
: : 3
& s
S -
a = N
&
>
>
EtS
2
-~
2

1. Sill lfem #'s 32 & 33 are attached to jambs

Note:

Bmp £5-95L5-XI\sBUIMRIQ - D\L§L5-261S X1) SBHIBPIS 195 4G SI dwiuoN 94 anbedO 13 .89 ./ '8.9 - XXX ¥ - 1d1\su] Jo 1daq sexa] - G\LNINVINYId NIL BULIBYINSIUSID\Z



TONT SLNVLINSNGOD aNIging “m's 1202 @)

ZSBLL—4 # NOUVNISIORY 40 ILVOLILLNEO SNOISIAZY -
SYIINIONT TVNOISSIH0¥d 40 CUVOH SVXaL ONINOHONY TNV AH 31v3 [ONI~— =ln] o 9_
, Sllzle
LBL6°6S9°CLE "ON 8uoyd : N =& )
GEBSES 14 OOWIDA OSZ Xog .O.&gga ATANESSY 40 Ldvd % _M ~ -5 s
"ONI ‘SLNVLINSNOD ONIaTING N . N 7_
400d SSY194381d = BlElg X
STLHOLE "A'd SwXal NAL—VNHIHL g w A1 &
‘3'd IPHUYDS 4 UOpUAT g paundeld sjuswnoeg Lonaoyd HEIHE w i
Sz
&5 OGS
B SEIFOL 508
% LOINHOS 4 NOONAT £
m..u, ..... LI LRI T T TR P m.,.,...naw =
y ..T«ﬂw m
LI
o =
\ﬁ.m..lt . :— — &
o i O
L o2
<
o ’ ™ H >
L =T
— 3 M
-
< u
i “ g9
) <
Q. Q
[a o
mm Qo =
aow
o SR 71 o tte S I
9 _ “ XYW .SF z 9
2 1 g
o
I 1 | l I | i

MULLION

CONCRETE o
(TYP.)

! = | @
o’ @ b —a
E - g S (xXo)ZE | 3
“E <= 2 2 g B g O
= o8 & @ SR =
= Dm\ O x OC X
= < R = =z
pd [2n} b4 ®) O
:—,!"Il w - T m C -
/g8 | — L=
LI 7 _ _ N
g < B — - -
] =g B —
ESIHES
ww | l | i | |
Py AN AN.A% S X
w® L
S| 2 /G /m
= s o £
2E 9~
ES s

(dAl)"D'O
XYW .Spl

FRAME ANCHORING

MULLION
./Q?
I 1
N
| E
- T
1
IR
e wOOD
CONCRETE
(TYP.)

e ! . : QQULH% S
- g < o G E <
S E 2 Q = Q W @)
% s 5 B Q I P Y
oE Q & g 9
«N”H W Nw &
L X O

6" TYP.) —=-!

Bmp’£5-95LS-X1\sBumeIq - D\(LSLS-25LS X1) SSMBPIS 186 41 S| dwjuoN O4 enbedD DD .8 79 . ‘8.9 - XXX ¥ - 1AL\su] 40 3doQ sexa] - \ININVINYId ML BWIBYL\SIUSID\Z



TONL SINVLATINSNOD anNigung ‘M'd Loz @

2S8L1—4 # NOUVMISIORY 40 ALVOILLNIO SNOISIA3A i
SHIINIONI TVNOISSIA0Nd 40 QNVOE SvX3L SIVLIA IHVYMANYH AH 31va [ON] 2lnl © 9_
NI I
LBLE'6CO'CLE ON euoyd : Niclelhl 0l
S6GEE 14 OOWIDA 0CZ Xog ‘O'd \Suga FATENISEY 40 idvd 8 W P o|°
"ONI ‘SINVLINSNOD ONIaHNg N . z | 8_
¥00d SSY193gld —1 B Ele &
SZTLPOL#F "3'd SVYXIL NYL—VYANIHL i s|xiE &
‘I'd WPIWUDS " UOpuAl  ihg padpdedd sjuswinoog -12N3d0dd 3 2|3 m &

K
"
4 v ,
pieessasarersaresiaesntiosvtatuonn w::\

g
i
#

e
4
5

pAW
2X STUD/2X REINF.

.
...........

@ BACK-TO-BACK

R 0’ m@
X

=]
<
v}
o
T @ Fen - O
J°1 g
I ) | =
[N
Q\\QU/@/V@
E
g& . . - . . . L] b -y
| L% (A [l (A4 n&
7w v 77 g
. b o]
_ _ IWYa 40 dOL Tl.o.ﬁ»%&lv_
_ " OWOMd.£L'8 " W
ZZ o
s
J5E
(7]
(S'L 7 .88°09 _
:m.m —-— lm
] .
_ (=L 1 3|2
| . . * A 1 -.mr-&
/ &5
9
Hu
COL
— R ==
<
MMH
HAaQ
L o8

SUB STRIKE

Schlage

W
L—T17
i &

A

1\
/'D

LATCH & DEADBOLT DETAIL

25
LATCH & DEADBOLT DETAIL
Kwikset

LATCH & DEADBOLT STRIKE DETAILS

BMP'£5-951§-X1\sBUIMEIQ - D\ZSLS-251S XL SBHBPIS 125 1ia SI dwjuoN 94 anbedO DD .8 %8 L '8,9 - XXX ¥ - 1A1\su] Jo 1daq sexa] - S\LNINVINYId N1 ewidy \swuaid\Z



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonimp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5156-57.dwg

—

BILL OF MATERIALS

TEM # | DESCRIPTION MATERIAL
B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
F #10 X 2" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
Q #10 X 3" PFH WOOD SCREW (1.75" MIN. EMBEDMENT) STEEL
R 3/16" X 3-1/4" ITW CONCRETE SCREW STEEL
X 2X REINFORCEMENT (SG = 0.55) WOOD
1 WOOD JAMB (FINGER JOINT PINE ) WOOD
2 COMPOSITE JAMB COMP
7 WEATHERSTRIP FOAM
8 DOOR SWEEP VINYL
10 #10 X 1-1/2" PFH WOOD SCREW STEEL
11 #12 X 1-1/2" PFH WOOD SCREW STEEL
22 #8 X 3/4" PFH WOOD SCREW STEEL
23 #9 X 3/4" PFH WOOD SCREW STEEL
24 #9 X 1" PFH WOOD SCREW STEEL
25 #8 X 1-1/2" PFH WOOD SCREW STEEL
26 #8 X /8" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL

28A | DEADBOLT SUB STRIKE PLATE STEEL
29 4" X 4" HINGE STEEL
32 INSWING THRESHOLD ALUM/COMP
33 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP

40 | DOOR PANEL (BOOK]

41 DOOR PANEL {HYBRID)

42 | DOOR PANEL (UT)

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comners may be adjusted fo maintain the min.

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

nw

1apcoN®| W& 1-3/4 z 4

DeWALT ; ; } ]

luttracoNn? 1/4 1-3/4 1 4
lTW " ul W i
TAPCON® 3/18 1-1/4 3 1-1/2

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitling of wood.

1.25"

4.56"

0.75"

M \./ =

]

E 236" !

WOOD JAMB

i 4.56"

PSS LT

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

; 212

@ COMPOSITE JAMB
5.83"
32 INSWING THRESHOLD
Adjustable Composite Silf
[* 2.08" —=|

SIDELITE .

ADAPTER <
o~

5.83"

33 INSWING THRESHOLD w/ SIDELITE ADAPTER
Composite Sill

BUILDING CONSULTANTS, INC.
P.0. Box 230 Vairico FlL. 33595
Phone No.: B13.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA—TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

REVISIONS

NOJ DATE

oate: 1/06/21

scAlE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5156

SHEET 9 ofF 9

© 2021 R.W. BUILDING DONSULTANTS INC.




